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& 100 XM
110 XAl
3 111 2EAl (o2
SN-E-B-F-2 0l ey p[E-L HIRE2
ES Al 458,676,580 489,328,683 A 30,652,103
A< 1 458,676,580 489,328,683 A 30,652,103
100 X' Ai==2 183,300,000 182,000,000 1,300,000
110 XI& Al 183,300,000 182,000,000 1,300,000
11 2Al 160,200,000 159,500,000 700,000
111-05 THAtAl 32,500,000 30,200,000 2,300,000
OM&M SEH 32,500,000 30,200,000 2,300,000
111-08 S=Al 3,600,000 3,500,000 100,000
CEN S5Y 3,600,000 3,500,000 100,000
111-10 i 2l Al 29,500,000 28,000,000 1,500,000
OEtiAHIAMN S5 29,500,000 28,000,000 1,500,000
1M11-11 =& Al 20,800,000 24,000,000 A 3,200,000
OF&dHAM S =N 20,800,000 24,000,000 23,200,000
112 S&EA| 20,600,000 19,000,000 1,600,000
112-01 SAIH Al 15, 100,000 13,900,000 1,200,000
OEAIHEAN SEXH 15,100,000 13,900,000 1,200,000
112-03 Abei 2 Al 5,500,000 5,100,000 400,000
OAMSH AN SENA 5,500,000 5,100,000 400,000
113 Nt =g 2,500,000 3,500,000 1,000,000
113-01 XtE ==+ 2,500,000 3,500,000 1,000,000
OXNdE e SHH 2,500,000 3,500,000 21,000,000
200 M2+ 77,921,331 105,741,900 N27,820,569
210 B &A= 30,467,272 27,322,242 3,145,030
211 THATH4 Y 381,321 350,000 31,321
211-02 SRMAL U= 191,321 160,000 31,321
OJIet S= 160,000 130,000 30,000
CERHESEXNZUZ 31,321 30,000 1,321
212 HEE =Y 1,851,406 1,785,140 66,266
212-01 T 2AEZ 1,100,000 1,050,000 50,000
OSZANBR(Z2M, BREZA) 1,100,000 1,050,000 50,000
212-05 AIZAIEZ 11,086 9,760 1,326
OMHAE(BY, 27, 8d) 8= 11,086 9,760 1,326
212-08 JIEtAtE = 740,320 725,380 14,940
OZLFIUE (sS4, 28 MY R, 2H2) AEZ 30,000 50,000 A 20,000
OFRAAT 24N Y 24,840 21,000 3,840
Os®r=H HAEE 48,000 32,000 16,000
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RN 0] & o p[E-L HIRE2
O4ctd BEMES= 11,102 10,500 602
O=FMHA(HAER) AIBE 9,584 9,200 384
OTHBRUAIE ABR(2Y BRSEME) 78,830 58,830 20,000
OWAZE ASZE(AE, U2, 40S) 16,000 22,000 6,000
Os8s23 LolAIXR2 20 AZEE = 37,114 37,000 114

213 ==Y 7,641,054 7,508,744 137,310

213-01 X =< 2,261,054 2,153,744 107,310
OS8A B34+22 194,000 242,690 48,690
OIS IRIA =3 276,000 226,000 50,000
Os8¥s HM&8 =& 1,000,000 900,000 100,000
OFRERL HEY 4482 90,004 84,004 6,000

213-04 JIEt==+= 180,000 150,000 30,000
OHJI2 g2 (HAD HFRETL) 62,000 52,000 10,000
OUMZEHI 100,000 80,000 20,000

214 A= 1,860,300 1,866,058 N5,758

214-01 AHRIEM A1l 695,300 750,000 A54,700

FRAAE dHE = 145,300 200,000 254,700
214-02 EXR3 4 30,000 100,000 30,000
PEFIHE 28 =Y 130,000 100,000 30,000

214-08 A S AMSH =L 1,035,000 1,016,058 18,942
OEALTS (LB X, 6t 22l) 550,000 339,570 210,430
OEdA MEsY =8 210,000 188,988 21,012
ONSEE 442 275,000 487,500 A212,500

215 dxuE3= 9,077,191 9,117,300 240,109

215-01 w3+ 9,077,191 9,117,300 240,109
OEM =12 = 6,664,200 6,386,000 278,200
OstEAER 1R S 857,593 1,332,000 NAT4 407
OHESNE Y2093 6,278 4,500 1,778
OsNEEREs dx-uR= 900,000 800,000 100,000
OEF P FuE = =S EIME = 144,094 90,000 54,094

ggddEgsrg AR s 226 0 226

216 Ol Kt==¢ 9,656,000 6,700,000 2,956,000

216-01 ZTOIZ0IRK 4 9,520,000 6,600,000 2,920,000
O30S0 Xt==g 9,520,000 6,600,000 2,920,000

216-03 JIELOI Rt==&d 136,000 100,000 36,000
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OJIEt Ol Xt==¢& 136,000 100,000 36,000

20 BAIE N2 47,454,059 78,419,658 30,965,599

221 THAHOH 2F =2 2,170,000 3,150,000 980,000

221-01 SRMAMMAAHESUS 290,000 350,000 260,000

OALAZES SR 2+ 290,000 350,000 A60,000

221-03 SR AU+ = 1,880,000 2,800,000 920,000

OLRSES R H2A2Y 1,880,000 2,800,000 A920,000

222 =MALN S 4,417,765 19,409,633 A 14,991,868

202-01 = HIHL0I 2 4,417,765 19,409,633 A 14,991,868

O=MHALAHZ 4,417,765 19,409,633 A 14,991,868

224 MU= 15,284,000 17,384,858 2,100,858

224-01 BIILEEHE L= 4,200,000 5,000,000 A800,000

Oct+=3S2ZXaE 22H HY= 4,200,000 5,000,000 800,000

224-02 At - BHEYUS 2,400,000 2,035,858 364,142

OAlg22| 2 == 2,400,000 2,035,858 364,142

224-03 JIEHSI A FH Y2 5,684,000 7,349,000 A1,665,000

OoHsZ=HII3 8= 3,684,000 3,504,000 180,000

OJIBAESHES N B3 2,000,000 2,845,000 A845,000

OIS (SYML)SLE3AH M3 0 1,000,000 1,000,000

227 Re= 12,583,667 20,922,000 A8,338,333

207-01 RXISHH 2RSS 0 933,000 £.933,000

OUletii=E =2 ABHCTH2 E4Hl RLAl RES 0 933,000 933,000

207-02 LBRED 12,563,667 19,989,000  A7,405,333

OX Aot =ZTLHeANE SESAEXNSAMREES) 0 8,000,000 8,000,000

ot 23Witd EXSA = 0 4,179,000 24,179,000

Lol 2K SADHEAIY et fE= 5,148,350 2,000,000 3,148,350

OXRUAIt0lg HolicC Jek FE= 1,625,317 0 1,625,317

228 &=+¢ 10,498,627 15,053, 167 A4,554,540

228-02 Halz 45,000 60,000 A 15,000

OSTUBME 2TRMA BHAS(SAD, ALD) 45,000 60,000 A15,000

228-04 LEHEXHAF =L 4,980,300 4,938,700 41,600

OEAEUESY RAVNE = 1,000 10,000 29,000

OHIIST2Y AUVHZ(BAN ZRESA) 90,000 100,000 210,000

O2= EadFLH=XHel02E FeHES 62,000 16,000 46,000

Ogtd2tgd QABLLERE 103,000 33,000 70,000
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© 300 KW Al
© 310 A2 Al

L 311 Ny (9l &3l
RN 0] & o p[E-L HIRE2
311 KgDLA 142,933,398| 140,236,783 2,696,615
311-01 X2 Al 142,933,398 140,236,783 2,696,615
02008 Fs4k WA 6,380,049 3,683,434 2,696,615
400 ZEWRESEHE LS 54,511,851 61,350,000 A6,838, 149
420 MEBEH= 54,511,851 61,350,000 A6,838, 149
21 HEEd=s 54,511,851 61,350,000 A6,838, 149
421-01 HEE&ES 54,511,851 61,350,000 6,838,149
02008 MBEN= 54,361,851 61,200,000 26,838,149
0 2x3 10,000 0 10,000
520 AI,EHIE X3S 10,000 0 10,000
521 Al - CHIEEZE 10,000 0 10,000
521-01 Al - THIE XSS 10,000 0 10,000
02008 FE T NA+LEI 2AT AAIHHI(ER2) 10,000 0 10,000




N 2 0l & AF S E A A
2008 S Z 2 3l L3
SN M
HEl: (oed jEse
Sl XA 2BES (E9: @)
SA-BH.C(BH) - HRAY - B Ofl &t o Il jes)e Hnz2
M2 Dt 1,522,397 1,539,345 ~16,948
= 0,000 0 10,000
Al 1,512,397 1,539,345 126,948
N s Helss 1,320,738 1,337,686 £16,948
= 10,000 0 10,000
Al 1,310,738 1,337,686 126,948
NEYREESE 1,126,556 1,151,556 £25,000
BHE NN 2R 756,855 781,855 £.25,000
201 L2yl 514,236 539,236 25,000
02 Zz=29U| 428,476 453,476 25,000
03282 428,476 453,476 £25,000
-2 DXNMESZLRED 145,840 170,840 £25,000
Mol +el 2 oHa 4 74,199 64,199 10,000
= 10,000 0 10,000
Al 64, 199 64, 199 0
BHE Moty 2DEA 63, 199 53, 199 10,000
= 10,000 0 10,000
Al 53, 199 53, 199 0
202 OiHl 2,890 1,890 1,000
= 1,000 0 1,000
Al 1,890 1,890 0
01 =Uhotd 2,890 1,890 1,000
OMI+e FMLM SEI4 =0t 1,000 0 1,000
= 1,000 0 1,000
405 THEFH S 9,000 0 9,000
= 9,000 0 9,000
01 KAUSEFSH] 9,000 0 9,000
ONROIRA DAEE =AD| 7Y
3,000,000% * 1CH 3,000 0 3,000
= 3,000 0 3,000
ONE4+Y FAaT 2424 5 ZEH
mb<] 1,200,008 * 5Cf 6,000 0 6,000
< 6,000 0 6,000
M=ot T AL 119,983 121,931 A1,948
EELTBTERE I 119,983 121,931 A1,948
|




A MR
M NSged W2
SRl ONEFEOE T A

SNBSS - MEAY - BES 0l &k o4 p[E-Ll
101 eIAH| 41,524 43,472
10 JIZtHZ2Z2NSEx 41,524 43,472

OMNE=EIIZAXIARE 2124H| 41,524 43,472
-—=&2zel 2,560 4,508




